[bookmark: _GoBack]Starting at the second row of numbers, move from left to right checking that you understand the numbers given.  
Repeat for the second set of figures lower down in the table.

	START OF YEAR
	
	END OF YEAR
	
	
	

	Capacity
	BACKLOG OF ORDERS
	MMM
	BACKLOG OF ORDERS
	NEW ORDERS
	Capacity

	MMM
	MMM
	MMG
	Backlog
	MMM
	MMG
	MMM
	MMG
	MMM

	
	
	
	
	
	
	you
	(given by
	

	
	
	
	
	
	
	 decide!
	computer)
	

	500
	50
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	1.00
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	550
	55
	495
	1.00
	0
	0
	55
	495
	550

	550
	55
	495
	1.00
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	55
	495
	550
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